
5192 5192.5 5193 5193.5 5194
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

5937

5937.5

5938

5938.5

5939

5939.5

5940

5940.5

5941

ru
n

run:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5939}



5192 5192.5 5193 5193.5 5194
cyclenum

90.5−

90−

89.5−

89−

88.5−

us
l_

1X
usl_1X:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

34.5

35

35.5

36

36.5

us
l_

4e
X

usl_4eX:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

18.5

19

19.5

20

20.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

40.8−

40.6−

40.4−

40.2−

40−

39.8−

39.6−

39.4−

39.2−

39−

38.8−

38.6−

us
l_

12
X

usl_12X:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

5937

5937.5

5938

5938.5

5939

5939.5

5940

5940.5

5941

ru
n

run:cyclenum {run == 5939}



5192 5192.5 5193 5193.5 5194
cyclenum

146−

145.5−

145−

144.5−

144−

us
r_

1X

usr_1X:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

us
r_

4a
Y

usr_4aY:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

210.6

210.8

211

211.2

211.4

211.6

211.8

212

212.2

212.4

212.6

212.8

us
r_

4e
X

usr_4eX:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

13.6

13.8

14

14.2

14.4

14.6

14.8

15

15.2

15.4

15.6

15.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

44−

43.5−

43−

42.5−

42−

us
r_

12
X

usr_12X:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

5937

5937.5

5938

5938.5

5939

5939.5

5940

5940.5

5941

ru
n

run:cyclenum {run == 5939}



5192 5192.5 5193 5193.5 5194
cyclenum

22845.6

22845.8

22846

22846.2

22846.4

22846.6

22846.8

22847

22847.2

22847.4

22847.6

22847.8

us
l_

co
il1

usl_coil1:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

3485.6

3485.8

3486

3486.2

3486.4

3486.6

3486.8

3487

3487.2

3487.4

3487.6

3487.8

us
l_

co
il3

usl_coil3:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

3954.5

3955

3955.5

3956

3956.5

us
l_

co
il4

usl_coil4:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

1138.8−

1138.6−

1138.4−

1138.2−

1138−

1137.8−

1137.6−

1137.4−

1137.2−

1137−

1136.8−

1136.6−

us
l_

co
il6

usl_coil6:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

2407

2407.5

2408

2408.5

2409

us
l_

co
il7

usl_coil7:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

5937

5937.5

5938

5938.5

5939

5939.5

5940

5940.5

5941

ru
n

run:cyclenum {run == 5939}



5192 5192.5 5193 5193.5 5194
cyclenum

19957.5−

19957−

19956.5−

19956−

19955.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

2766.5−

2766−

2765.5−

2765−

2764.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

3871

3871.5

3872

3872.5

3873

us
r_

co
il4

usr_coil4:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

871−

870.5−

870−

869.5−

869−

us
r_

co
il6

usr_coil6:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

38542.2

38542.4

38542.6

38542.8

38543

38543.2

38543.4

38543.6

38543.8

38544

38544.2

38544.4

us
r_

co
il7

usr_coil7:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

5937

5937.5

5938

5938.5

5939

5939.5

5940

5940.5

5941

ru
n

run:cyclenum {run == 5939}



5192 5192.5 5193 5193.5 5194
cyclenum

285−

284.5−

284−

283.5−

283−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

19.8−

19.6−

19.4−

19.2−

19−

18.8−

18.6−

18.4−

18.2−

18−

17.8−

17.6−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

312

312.5

313

313.5

314

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

338−

337.5−

337−

336.5−

336−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

44−

43.5−

43−

42.5−

42−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

293.6

293.8

294

294.2

294.4

294.6

294.8

295

295.2

295.4

295.6

295.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5939}



5192 5192.5 5193 5193.5 5194
cyclenum

173

173.2

173.4

173.6

173.8

174

174.2

174.4

174.6

174.8

175

175.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

34

34.5

35

35.5

36

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

10−

9.5−

9−

8.5−

8−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

179.5

180

180.5

181

181.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

28.8−

28.6−

28.4−

28.2−

28−

27.8−

27.6−

27.4−

27.2−

27−

26.8−

26.6−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

4.8−

4.6−

4.4−

4.2−

4−

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5939}



5192 5192.5 5193 5193.5 5194
cyclenum

235−

234.5−

234−

233.5−

233−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

82.5−

82−

81.5−

81−

80.5−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

5

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

9.6

9.8

10

10.2

10.4

10.6

10.8

11

11.2

11.4

11.6

11.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

505−

504.5−

504−

503.5−

503−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5939}

5192 5192.5 5193 5193.5 5194
cyclenum

5937

5937.5

5938

5938.5

5939

5939.5

5940

5940.5

5941

ru
n

run:cyclenum {run == 5939}
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